
 

 

Answer on Question #52224 - Math - Multivariable Calculus 

𝑓(𝑥, 𝑦) = 4𝑥3– 3𝑦2, find 𝑓𝑥. 

Solution: 

Let’s compute the partial derivative of function f(x,y) with respect to x, with y held constant: 

𝑓𝑥 =
𝜕

𝜕𝑥
𝑓(𝑥, 𝑦) =

𝜕

𝜕𝑥
(4𝑥3– 3𝑦2) =

𝜕

𝜕𝑥
4𝑥3 −

𝜕

𝜕𝑥
3𝑦2 = 4

𝜕

𝜕𝑥
𝑥3 − 3

𝜕

𝜕𝑥
𝑦2 = 4 ∙ 3𝑥2 − 3 ∙ 0 =

= 12𝑥2 

The rules work the same way here as it does with functions of one variable: 
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, where n  is integer. 

Answer: 12𝑥2. 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.AssignmentExpert.com 


